### FUNCTIONAL EQUATION OF A SPECIAL DIRICHLET SERIES

#### **IBRAHIM A. ABOU-TAIR**

Department of Mathematics Islamic University - Gaza Gaza - Strip

(Received December 10, 1985 and in revised form May 1, 1986)

ABSTRACT. In this paper we study the special Dirichlet series

$$L(s) = \frac{2}{\sqrt{3}} \sum_{n=1}^{\infty} sin(\frac{2\pi n}{3})n^{-s}$$
, s < C

This series converges uniformly in the half-plane Re(s) > 1 and thus represents a holomorphic function there. We show that the function L can be extended to a holomorphic function in the whole complex-plane. The values of the function L at the points  $0,\pm 1,-2,\pm 3,-4,\pm 5,\ldots$  are obtained. The values at the positive integers 1,3,5,... are determined by means of a functional equation satisfied by L.

KEY WORDS AND PHRASES. Dirichlet Series, Analytic Continuation, Functional Equation, r-Function.

1980 AMS SUBJECT CLASSIFICATION CODE. 30B50, 30B40.

1. INTRODUCTION.

By a Dirichlet series we mean a series of the form

$$\sum_{n=1}^{\infty} a_n^{n-s}$$

where the coefficients  $a_n$  are any given numbers, and s is a complex variable [1], [2].

In this paper we study the special Dirichlet series

$$L(s) = \frac{2}{\sqrt{3}} \sum_{n=1}^{\infty} sin(\frac{2\pi n}{3})n^{-s}$$
, s < C

which converges uniformly in the half-plane  $\operatorname{Re}(s) > 1$  and thus represents an analytic function there. In section 1 we study the analytic behaviour of the function L beyond the half-plane  $\operatorname{Re}(s) > 1$ , and prove that the function L can be extended to a holomorphic function in the whole complex-plane. Moreover values of L at the points -m (m=0,1,2,3,...) are obtained at the end of this section. The values of L at the positive integers 1,3,5,... are determined by means of the functional equation

$$L(s) = \frac{2}{\sqrt{3}} \left(\frac{2\pi}{3}\right)^{s-1} \Gamma(1-s) \cos(\frac{1}{2}\pi s) L(1-s) , s \in C$$

satisfied by the function L, which we prove in section 2.

I. A. ABOU-TAIR

2. ANALYTIC CONTINUATION OF L.

$$L(s) = \frac{2}{\sqrt{3}} \sum_{n=1}^{\infty} \sin(\frac{2\pi n}{3}) n^{-s} , (s \in C)$$
 (2.1)

is uniformly convergent in the half-plane Re(s) > l and so it represents an analytic function there. The aim of this section is to extend L to the whole complex plane and to prove that L is holomorphic in C.

LEMMA 2.1. For all values of s in the half-plane Re(s) > 1

$$L(s) = \frac{1}{\Gamma(s)} \int_{0}^{\infty} G(t) t^{s-1} dt , \text{where}$$

$$G(t) = \frac{2}{\sqrt{3}} \sum_{n=1}^{\infty} \sin(\frac{2\pi n}{3}) e^{-nt} , \text{Re}(t) > o$$

$$= \frac{1}{e^{t} + e^{-t} + 1}$$

PROOF. Consider the Euler's integral .

$$\Gamma(s) = \int_{0}^{\infty} e^{-t} t^{s-1} dt$$

Substitution of nt, n  $\in$  N, for t in the above integral yields

$$n^{-s} \Gamma(s) = \int_{0}^{\infty} e^{-nt} t^{s-1} dt , \operatorname{Re}(s) > 0$$

Thus for Re(s) > 1, we get

$$\Gamma(s)L(s) = \frac{2}{\sqrt{3}} \sum_{n=1}^{\infty} \sin(\frac{2\pi n}{3}) \int_{0}^{\infty} e^{-nt} t^{s-1} dt$$

i.e.

$$\Gamma(s)L(s) = \frac{2}{\sqrt{3}} \int_{0}^{\infty} \sum_{n=1}^{\infty} \sin(\frac{2\pi n}{3})e^{-nt}t^{s-1}dt$$

Thus

$$\Gamma(s)L(s) = \int_{0}^{\infty} G(t)t^{s-1}dt$$

Now

$$G(t) = \frac{1}{i\sqrt{3}} \sum_{n=1}^{\infty} ((\varepsilon)^n - (\overline{\varepsilon})^n) e^{-nt} , \text{ where } \varepsilon = e^{2\pi i/3}.$$

i.e.

$$G(t) = \frac{1}{i\sqrt{3}} \left( \sum_{n=1}^{\infty} (\varepsilon)^n e^{-nt} - \sum_{n=1}^{\infty} (\overline{\varepsilon})^n e^{-nt} \right) , \operatorname{Re}(t) \ge 0.$$

Thus

$$G(t) = \frac{1}{i\sqrt{3}} \left( \frac{1}{(1 - \epsilon e^{-t})} - \frac{1}{(1 - \overline{\epsilon} e^{-t})} \right).$$

By using the identities  $\varepsilon - \overline{\varepsilon} = i\sqrt{3}$ ,  $\varepsilon + \overline{\varepsilon} + 1 = 0$  and  $\varepsilon \overline{\varepsilon} = 1$ , we get

$$G(t) = \frac{1}{e^{t} + e^{-t} + 1}$$

The function  $G(t) = (e^{t} + e^{-t} + 1)^{-1}$  is analytic near t=0; therefore it can be expanded as a power series in t. So we have

LEMMA 2.2. G(t) has the Taylor series expantion

$$G(t) = \sum_{n=0}^{\infty} a_n t^{2n}$$
 ,  $|t| < 2\pi/3$ 

where the coefficients  $a_n$  satisfy the recursion formula

$$a_{0} = 1/3$$
,  $3a_{n} + 2\sum_{k=1}^{n} \frac{1}{(2k)!} a_{n-k} = 0$ ,  $n \ge 1$  (2.2)

PROOF. Since G is an even function, the expantion of G can be expressed as

$$G(t) = \sum_{n=0}^{\infty} a_n t^{2n}$$

which is valid near zero (in fact valid in the disk  $|t| < \frac{2}{3}\pi$  which extends to the nearest singularities  $t = \pm \frac{2\pi}{3}$  of G(t)). The relation G(t)( $e^{t} + e^{-t} + 1$ ) = 1 gives

$$\left(\sum_{n=0}^{\infty} a_{n}t^{2n}\right)\left(1+2\sum_{n=0}^{\infty}\frac{t^{2n}}{(2n)!}\right)=1$$

i.e.

$$\sum_{n=0}^{\infty} a_n t^{2n} + 2\left(\sum_{n=0}^{\infty} a_n t^{2n}\right)\left(\sum_{n=0}^{\infty} \frac{t^{2n}}{(2n)!}\right) = 1$$

i.e.

$$\sum_{n=0}^{\infty} a_n t^{2n} + 2 \sum_{n=0}^{\infty} \left( \sum_{k=0}^{n} \left( \frac{1}{(2k)!} a_{n-k} \right) t^{2n} = 1 \right)$$

Thus for the coefficients  $a_n$  we have the recursion formula

$$a_0 = 1/3$$
,  $3a_n + 2 \sum_{k=1}^{n} \frac{1}{(2k)!} a_{n-k} = 0$ ,  $n \ge 1$ 

This completes the proof of the lemma.

The coefficient  $a_n$  can be determined successively by (2.2). The first few are easily determined to be

$$a_0 = \frac{1}{3}$$
,  $a_1 = -\frac{1}{9}$   
 $a_2 = \frac{1}{36}$ ,  $a_3 = -\frac{7}{1080}$ 

THEOREM 2.1. The function L defined by

$$L(s) = \frac{1}{\Gamma(s)} \int_{0}^{s} G(t)t^{s-1} dt , \operatorname{Re}(s) > 1$$

can be extended to a holomorphic function in the whole complex plane.

PROOF. Let us define P and Q for Re(s) > 1 by

$$P(s) = \int_{\infty}^{1} G(t)t^{s-1} dt$$
$$Q(s) = \int_{1}^{\infty} G(t)t^{s-1} dt$$

The integral

$$\int_{1}^{\infty} G(t)t^{s-1}dt$$

exists and converges uniformly in any finite region of the s-plane, since the function

$$(e^{-t} t^{Re(s)+1})/(e^{-t} + e^{-2t} + 1)$$

is bounded for all values of Re(s), and we can compare the integral with that of  $1/t^2$ . Thus Q is an entire function. Recall from Lemma 2.2 that

$$G(t) = \sum_{n=0}^{\infty} a_n t^{2n} , t \in [0,1]$$

the convergence being uniform on [0,1]. We deduce for Re(s) > 1 that

$$P(s) = \sum_{n=0}^{\infty} \int_{0}^{1} a_{n} t^{2n+s-1} dt$$
$$= \sum_{n=0}^{\infty} \frac{1}{2n+s} a_{n}$$

Thus P is a meromorphic function on C with simple poles at  $0,-2,-4,-6,\ldots$ . Since  $1/\Gamma$  is an entire function we may now extend L to the whole of C by

$$L(s) = \frac{P(s)}{\Gamma(s)} + \frac{Q(s)}{\Gamma(s)}$$
(2.3)

Since Q and  $1/\Gamma$  are entire functions, the singularities of L can only be those of P/ $\Gamma$ . We have seen that P has simple poles at 0,-2,-4,-6,.... Since  $1/\Gamma$  has simple zeros at 0,-2,-4,... it follows that L is regular for all values of s in the complex plane. This completes the proof of the theorem.

LEMMA 2.3. (i) L has zeros at -1,-3,-5,...

(ii) The values of L at 0,-2,-4,-6,... are given by

$$L(-2m) = (2m)!a_m$$
,  $m = 0, 1, 2, 3, 4, ...$ 

PROOF. (i) This follows immediately from the fact that  $1/\Gamma$  has zeros at 0,-1, -2,-3,..., and thus

$$L(1-2m) = \frac{P(1-2m)}{\Gamma(1-2m)} + \frac{Q(1-2m)}{\Gamma(1-2m)} = 0 , m < N .$$

(ii) As in (i) we use the partial fraction (2.3) of L to get

$$L(-2m) = \lim_{s \to -2m} \frac{P(s)}{\Gamma(s)} + \frac{Q(s)}{\Gamma(s)}$$
$$= \lim_{s \to -2m} \frac{P(s)}{\Gamma(s)} = \lim_{s \to -2m} \frac{1}{\Gamma(s)} \sum_{n=0}^{\infty} \frac{1}{2n+s} a_n$$

i.e.

$$L(-2m) = \lim_{s \to -2m} \frac{1}{\Gamma(s)} \cdot \frac{1}{2m+s} a_m.$$

Since  $\Gamma$  has simple poles at the points -m (m=0,1,2,3,...) with residues  $(-1)^m/m!$ , we get

$$\lim_{s \to -2m} (2m+s) \Gamma(s) = \operatorname{Res}(\Gamma, -2m) = \frac{1}{(2m)!}$$

Thus

$$L(-2m) = (2m)!a_m$$
,  $m = 0, 1, 2, 3, ...$ 

where  $a_m$  can be determined successively by (2.2).

3. DERIVATION OF THE FUNCTIONAL EQUATION OF L.

In this section we derive the equation

$$L(s) = \frac{2}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{s-1} \Gamma(1-s) \cos\left(\frac{1}{2}\pi s\right) L(1-s) , s \in \mathbb{C}.$$

where L is the Dirichlet series (2.1)

$$L(s) = \frac{2}{\sqrt{3}} \sum_{n=1}^{\infty} sin(\frac{2\pi n}{3}) n^{-s}$$
, s c

Finally we determine the values of L at 1,3,5,..., by the use of the functional equation obtained above.

LEMMA 3.1. There exists an integral function I such that

$$L(s) = -\Gamma(1-s)I(s) , s \in C.$$

PROOF. Let 0 < r < 1, and let  $\rm C_r$  be the contour consisting of the paths  $\rm C_1$  ,  $\rm C_2$  and  $\rm C_3$  , where

 $C_1 = (\infty, r]$ 

 $C_2 = \partial_+ D_r(0)$  is a circle of radius r and the center at the origin oriented in the positive direction.

 $C_3 = [r,\infty).$ 



Define the function I by

$$I_{r}(s) = \frac{1}{2\pi i} \int_{C_{r}} \frac{(-t)^{s-1}}{e^{t} + e^{-t} + 1} dt$$

We prove now that  $I_r$  is independent of r. We have

$$I_r(s) - I_r(s) = \frac{1}{2\pi i} \int_{C_0} \frac{(-t)^{s-1}}{e^t + e^{-t} + 1}$$

,

where  $C_0$  is the contour shown in figure (a). Now

$$\int_{C_0} \frac{(-t)^{s-1}}{e^t + e^{-t} + 1} dt = \lim_{\delta \to 0} \int_{C} \frac{(-t)^{s-1}}{e^t + e^{-t} + 1} dt ,$$

where C is the contour in figure (b).

According to Cauchy's theorem, the integral around C is zero. Thus

$$\int_{C_0} \frac{(-t)^{s-1}}{e^{t} + e^{-t} + 1} dt = 0$$

It follows that I is independent of r.



Now,

$$I_{r}(s) = \frac{1}{2\pi i} \int_{\infty}^{r} \frac{e^{(\log t - \pi i)(s-1)}}{e^{t} + e^{-t} + 1} dt +$$

$$\frac{1}{2\pi i} \int_{C_2} \frac{(-t)^{s-1}}{e^t + e^{-t} + 1} dt + \frac{1}{2\pi i} \int_{r}^{\infty} \frac{e^{(\log t + \pi i)(s-1)}}{e^t + e^{-t} + 1} dt .$$

The middle term approaches zero as  $r \neq 0$  provided Re(s) > 0, since

$$\left| \int_{C_2} \frac{(-t)^{s-1}}{e^t + e^{-t} + 1} dt \right| < M \int_{\theta}^{2\pi} r^{\operatorname{Re}(s) - 1} e^{-(\pi + \theta) \operatorname{Im}(s)} r d\theta$$
$$< M' r^{\operatorname{Re}(s)} .$$

Hence

$$\lim_{r \to 0} I_r(s) := \frac{-e^{-\pi i (s-1)} + e^{\pi i (s-1)}}{2\pi i} \int_0^{\infty} \frac{t^{s-1}}{e^{t} + e^{-t} + 1} dt.$$

Define the function I by

$$I(s) = \lim_{r \to 0} I_r(s)$$

Thus we have

$$I(s) = -\frac{\sin(\pi s)}{\pi} \int_{0}^{\infty} \frac{t^{s-1}}{e^{t} + e^{-t} + 1} dt.$$

We have seen in the proof of theorem 2.1 that the function defined by the integral

$$\int_{0}^{\infty} \frac{t^{s-1}}{e^{t}+e^{-t}+1} -$$

is a meromorphic function with simple poles at the points 0,-2,-4,... Since the function  $\sin(\pi s)$  has simple zeros at 0,-2,-4,... it follows that I is regular for

all values of s in the complex plane. Moreover we have

$$I(s) = -\frac{\Gamma(s)\sin(\pi s)}{\pi} L(s)$$

Thus

$$I(s) \Gamma(1-s) = - L(s)$$

THEOREM 3.1. The function L satisfies the functional equation

$$L(s) = \frac{2}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{s-1} \Gamma(1-s) \cos(\frac{1}{2}\pi s) L(1-s)$$

PROOF. Let  $R_n = n+\frac{1}{2}$ , n = 1,2,3,..., and let  $C_{n,r}$  (0<r<1) be the contour consisting of the positive real axis from  $R_n$  to r, a circle radius r and center at the origin oriented in the positive direction, the positive real axis from r to  $R_n$ , and finally a circle of radius  $R_n$  with center at the origin oriented in the negative direction.

i.e.

$$C_{n,r} = \left[R_{n},r\right] + \frac{2}{2}D_{r}(o) + \left[r,R_{n}\right] + \frac{2}{2}D_{R_{n}}(o)$$

To deduce the functional equation of L we evaluate the integral

$$\frac{1}{2\pi i} \int \frac{(-t)^{s-1}}{c_{r,n}} dt$$

If we assume s = x is a negative real number, then we have

$$(-t)^{x-1} = e^{(x-1)\log(-t)}$$

It follows that

$$|(-t)| = |t|$$

Since the function  $(e^{t}+e^{-t}+1)^{-1}$  is bounded on the circle  $\frac{\partial D_{R_{n}}}{\partial D_{R_{n}}}(0)$ ,

$$\frac{\int \frac{(-t)^{s-1}}{e^t} dt}{\sum_{n} \int \frac{e^t}{e^t} + e^{-t} + 1} dt < 2 M^* R_n^x ,$$

which goes to zero as n goes to infinity. Thus we have

$$I(s) = \lim_{n \to \infty} \left( \frac{1}{2\pi i} \int_{C_{n,r}} \frac{(-t)^{s-1}}{e^{t} + e^{-t} + 1} dt \right).$$

Now between  $\partial D_{R_n}(0)$  and  $D_r(0)$  the integrand has poles at the points

$$\pm \frac{2\pi i}{3}$$
,  $\pm \frac{2\pi i}{3}(3m+1)$  and  $\pm \frac{2\pi i}{3}(3m-1)$ , m=1,2,3,...

Denote

$$H(t) = \frac{(-t)^{s-1}}{e^{t} + e^{-t} + 1}$$

Thus we have

$$\begin{aligned} &\operatorname{Res}(\mathsf{H}, \frac{2\pi \mathrm{i}}{3}) = \frac{1}{\sqrt{3}} \left(\frac{2\pi}{3}\right)^{\mathrm{s}-1} \mathrm{e}^{-\pi \mathrm{i} \mathrm{s}/2} \ . \\ &\operatorname{Res}(\mathsf{H}, -\frac{2\pi \mathrm{i}}{3}) = \frac{1}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{\mathrm{s}-1} \mathrm{e}^{\pi \mathrm{i} \mathrm{s}/2} \ . \\ &\operatorname{Res}(\mathsf{H}, \frac{2\pi \mathrm{i}}{3}(3\mathsf{m}+1)) = \frac{1}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{\mathrm{s}-1} \mathrm{e}^{-\pi \mathrm{i} \mathrm{s}/2} (3\mathsf{m}+1)^{\mathrm{s}-1} \ . \\ &\operatorname{Res}(\mathsf{H}, -\frac{2\pi \mathrm{i}}{3}(3\mathsf{m}+1)) = \frac{1}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{\mathrm{s}-1} \mathrm{e}^{\pi \mathrm{i} \mathrm{s}/2} (3\mathsf{m}+1)^{\mathrm{s}-1} \ . \\ &\operatorname{Res}(\mathsf{H}, -\frac{2\pi \mathrm{i}}{3}(3\mathsf{m}-1)) = -\frac{1}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{\mathrm{s}-1} \mathrm{e}^{-\pi \mathrm{i} \mathrm{s}/2} (3\mathsf{m}-1)^{\mathrm{s}-1} \ . \\ &\operatorname{Res}(\mathsf{H}, -\frac{2\pi \mathrm{i}}{3}(3\mathsf{m}-1)) = -\frac{1}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{\mathrm{s}-1} \mathrm{e}^{\pi \mathrm{i} \mathrm{s}/2} (3\mathsf{m}-1)^{\mathrm{s}-1} \ . \end{aligned}$$

•

The sum of the residues between  $\partial D_{R_{n}}(0)$  and  $\partial D_{r}(0)$  equals

$$\frac{2}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{s-1} \cos\left(\frac{1}{2}\pi s\right) \left(1 + \sum_{m=1}^{n} \left[ (3m+1)^{s-1} - (3m-1)^{s-1} \right] \right)$$

One can easily verify the identity

$$1+\sum_{m=1}^{n}\left[(3m+1)^{s-1}-(3m-1)^{s-1}\right] = \frac{2}{\sqrt{3}}\sum_{m=1}^{3n+1} \sin(\frac{2}{3}\pi m)m^{s-1}.$$

Thus the sum of the residues is

$$\frac{2}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{s-1} \cos\left(\frac{1}{2}\pi_{s}\right) \left(\frac{2}{\sqrt{3}} \sum_{m=1}^{\frac{3m+1}{2}} \sin\left(\frac{2}{3}\pi_{m}\right) m^{s-1}\right) .$$

It follows that

$$-I(s) = \frac{2}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{s-1} \cos\left(\frac{1}{2}\pi s\right) \left(\frac{2}{\sqrt{3}} \sum_{m=1}^{\infty} \sin\left(\frac{2}{3}\pi m\right) m^{s-1}\right).$$
$$= \frac{2}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{s-1} \cos\left(\frac{1}{2}\pi s\right) L(1-s)$$
(3.1)

We have seen that  $-I(s)\Gamma(1-s) = L(s)$  for all  $s \in C$ , so by the identity theorem the formula (3.1) is true for all  $s \in C$ . Thus we have proved the functional equation

$$L(s) = \frac{2}{\sqrt{3}} \left(\frac{2}{3}\pi\right)^{s-1} \cos\left(\frac{1}{2}\pi s\right) \Gamma(1-s) L(1-s) .$$

LEMMA 3.2. The values of L at the points s=2m+1,m=0,1,2,3,... are given by the formula

$$L(1+2m) = (-1)^m \frac{\sqrt{3}}{2} (\frac{2}{3}\pi)^{\frac{2m+1}{3}} a_m$$

where  $a_m$ 's are determined by (2.2).

PROOF. For s = -2m the functional equation and the identity

$$L(-2m) = (2m)! a_m, m = 0, 1, 2, ...$$

of the previous section give the proof of the lemma.

### REFERENCES

- 1. HARDY, G.H. and RIESZ, M. "The General Theory of Dirichlet Series," Cambridge University Press, 1952.
- 2. TITCHMARSH, E.C. "The Theory of the Riemann Zeta-Function," Oxford University Press, 1951.

# Special Issue on Modeling Experimental Nonlinear Dynamics and Chaotic Scenarios

# **Call for Papers**

Thinking about nonlinearity in engineering areas, up to the 70s, was focused on intentionally built nonlinear parts in order to improve the operational characteristics of a device or system. Keying, saturation, hysteretic phenomena, and dead zones were added to existing devices increasing their behavior diversity and precision. In this context, an intrinsic nonlinearity was treated just as a linear approximation, around equilibrium points.

Inspired on the rediscovering of the richness of nonlinear and chaotic phenomena, engineers started using analytical tools from "Qualitative Theory of Differential Equations," allowing more precise analysis and synthesis, in order to produce new vital products and services. Bifurcation theory, dynamical systems and chaos started to be part of the mandatory set of tools for design engineers.

This proposed special edition of the *Mathematical Problems in Engineering* aims to provide a picture of the importance of the bifurcation theory, relating it with nonlinear and chaotic dynamics for natural and engineered systems. Ideas of how this dynamics can be captured through precisely tailored real and numerical experiments and understanding by the combination of specific tools that associate dynamical system theory and geometric tools in a very clever, sophisticated, and at the same time simple and unique analytical environment are the subject of this issue, allowing new methods to design high-precision devices and equipment.

Authors should follow the Mathematical Problems in Engineering manuscript format described at http://www .hindawi.com/journals/mpe/. Prospective authors should submit an electronic copy of their complete manuscript through the journal Manuscript Tracking System at http:// mts.hindawi.com/ according to the following timetable:

Manuscript Due	December 1, 2008
First Round of Reviews	March 1, 2009
Publication Date	June 1, 2009

## **Guest Editors**

**José Roberto Castilho Piqueira,** Telecommunication and Control Engineering Department, Polytechnic School, The University of São Paulo, 05508-970 São Paulo, Brazil; piqueira@lac.usp.br

**Elbert E. Neher Macau,** Laboratório Associado de Matemática Aplicada e Computação (LAC), Instituto Nacional de Pesquisas Espaciais (INPE), São Josè dos Campos, 12227-010 São Paulo, Brazil ; elbert@lac.inpe.br

**Celso Grebogi,** Center for Applied Dynamics Research, King's College, University of Aberdeen, Aberdeen AB24 3UE, UK; grebogi@abdn.ac.uk